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Solving Systerns of Equations Day 1.5- Classwork

L e e T

. You sell tickets for admission to your school play and collect a total of $104. Admission

pr;ces are $6 for adults and $4 for children. You sold 21 tickets. How many adult fickets and
now many children tickets did you sell?
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2. Beach Hotelin Cancun is offering two weekend specials. One includes a 2-night stay with 3

meals and cost $195. The other includes a 3-night stay with 5 meals and cost $300. What is the
cost of a single meal?
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3. Rent-A-Car rents compact cars for a fixed amount per day plus a fixed amount for each
mile driven. Benito rented a car for 6 days, drove it 550 miles, and spent $337. Lisa rented the

same car for 3'days, drove it 350 miles, and spend $185. What is the charge per dc day and the
chorge per mile for the compoc’f care
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4, You bought the meat for Saturday's cookouf A pockclge of hot dogs cost $1.60 and a

package of hamburger cost $5. You bought a total of 8 packages of meat and you spem
$23. How many packages of hamburger meat did you buy?2
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5. Casey orders 3 pizzas and 2 orders of breadsticks for a total of $29.50. Rachel orders 2
pizzas and 3 orders of breadsticks for a total of $23. How much does a pizza cost?
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Acc. Alg./Geom. Solving Systems of Equations Day 1.5 Homework
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1. Adam and Shayna each improved their yards by planting flowers and shrubs. They bought

their plants from the same store. Adam spent $205 on 5 flowers and 10 shrubs. Shayna spent
$120 on 6 flowers and 5 shrubs. Find the costs for one flower and one shrub.
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2. Brendais selling cheesecakes for a school fundraiser. Customers can buy pecan
cheesecakes for §7.75 and chocolate marble cheesecakes for $9.50. Brenda sold 39
cheesecakes all together and rorsed $349.50 domg 50. How muehrdid-each-type-of
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3. Asanji and Jessica each took a series of lessons. They were taking their lesson from the
same trainers. Asanji spent $656 on 8 hours of guitar lessons and 16 hours with a personal gym

frainer. Jessica spent $460 on 5 hours of guitar lessons and 12 hours with the same instructors.
How much did each frainer charge per hour?
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Y= (Y 4. Darren is looking back at his investments for The‘%/eor. He had $1720 total in his investments,
o some of it in an account that earned 6% interest and some in an account that earned 5.5%
y= f_-;;%meresf. In fotal, he earned $98.20 in interest. How much was invested in each ac 2
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5. Flying with the wind a pIQne' went 221 mph. Flying into the same wind the plane went only
175 mph. Find the speed of the wind and the speed of the plane in still air.
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